ezan) pp734  ElEAEEelsd »p.784

FEIENGHR

PP.784

65

F

Q

SC

_

SYTUNRSH

IYEHS—"

{%EEHJ

268

RoHS2

o )

FHRRRD I Y EICKD DSV THiSHFTTEE.
IREDONZEFRALTIST v FORDfFF®. Ty FAS—DEENTEET,

IV SOEEDHEWVY T U ik,

SUS304

“:m 010402

JYENS—0EE

REY
MEILS HE - EmEmang AR
c 4% SA5C B JHE(SUS304 EUTFa-H) 1A

AR EIL b (SCM435 BH) 14

S

AT » LA S8US304

74 E(SUS304) 1@
AR K (SUSXMT7) 13

T

SCK1015

c z3

AE10mm. {815mm. Bg&

L/2

L£0.1

B{y : mm

——1{ 1 [0.01]A

HIMEISEOHIAEMRMCHTTIREAE,

10 | 15 | 35 | 45 | 24 | 75| 4 [121| 95| M6x18 | SCK1015[]Z3 | 1,150 1,750
12 | 15 | 38 | 55 | 24 | 9 5 [121|105| M6x18 | SCK 1215 1Z3 1,150 1,750
15 | 15 | 40 | 66 | 28 |105| 6 |121]12 MEx18 | SCK 1515[1Z3 | 1,250 1,850
16 | 15 | 42 | 66 | 28 |105]| 6 |121 |12 M6x18 | SCK 1615 ]Z3 1,250 1,850
20 | 156 | 46 | 66 | 34 |105| 6 |121|14 M6x20 | SCK2015[]Z3 | 1,350 2,150
26 | 15 | 50 | 66 | 38 |105| 6 |121|165| M6x20 | SCK 2515 ]Z3 | 1,450 2,350
30 | 15 | 56 | 66 | 44 |105| 6 |12.1]19 M6x25 | SCK 3015 |1Z3 1,550 2,750
35 | 20 | 65 | 66 | 48 |105| 6 |14.1|225| M6x35 | SCK 3520[ |23 | 1,750 3,250
40 | 20 | 70 | 66 | 56 |105| 6 |14.1 |25 M6x35 | SCK 4020123 | 1,900 4,150
50 | 20 | 85 | 66 | 68 |105| 6 |14.1|295| M6x35 | SCK 5020 1Z3 | 2,400 5,250

YT URS

’
A

iwmata



